EARAROBREBRT —5 XN—ZXBISH—F

2022688208 (£) 3EEE3H

R PEEXY:

KREEF FSiin

BN R

[AE%] 1 7%:5,200,000 § ~ 237 :2,100,000 @ .~ 37 :1,300,000 4 3&:780,000 § . 5 7&:520,000 H

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S, e fBKE— : -2-2- FHE= 8
7—N\UFHAY [B] 33 B 1.(%1).7 2-2-2-2 39.3] 86.1 | 1 (5_123) 1 R 2
RiNZ—ka1—RX B:7-—N\VULITUR #HBEIT7—L
2 S o~ 3 | RHEE 1:54.8 3-3-2-3 [39.3| 8.2 | 4 522 | PHEEX (/)
Yh/FRFY " 56.0 C15) e | ) BRSH—2nYN=—
RiFRF B:IIRAR NIUALT7—Ln
IXTS # 3 El!l%g%t 1:(5253.1 1-1-1-1 [39.8] 82.9 | 3 (5:)(3 ggg :(;m
RIN=YISA §:aVF5AY [Shirdie]
IAFT IOV i3 | BRAR 1(7553)2 15-15-13-11/ 38.6 | 81.6 | 11 (436) %(g)%‘jé%;;ﬁ;_b
RTFAUAYRA NUA Y N BTy RAIZVT BRE&H EIRNU—KR—RSVF
o < ISE R : -7-6- FBREX (FH)
AN A—IL kY 33 g s 1(.35/54.)3 7-7-6-6 | 39.4| 81.0 | 6 a(; /J\Mi%
R:AN/VyF— BRNAFTSY Pk e
—e =y P FEFA : -9-9- REERD (B8
6111123215y 43 2 (17.5;5% 10-9-9-6 [39.2 | 80.9 | 7 Ezgf gm@z
RiFVVvB/FE+ B:IVFUITAUY— /=Y Tr—I
SR 3 | SHER 1:56.3 5-5-4-5 | 40.5| 73.4 | 5 476 | BNRIZ )
7l5|g| ALYV " 56.0 ® 4y | XTAOTw XY
R:N40 BNV B Cie ]
\ P # 3 | HLEATE 1:56.4 4-4-4-4 | 40.7 | 72.8 | 2 494 | HEBRZ (55H)
817|121 39VIT3vT 56.0 (3/4) (o) | HIHEBX
RiFIPYISvT B:I4ZARSA VAT 94S5T7—1A
N MRS : -7-6- BERERC GER)
9 3| ZAXYF LYk [B) 33 C4 1(75?:? 7-7-6-6 | 40.6| 71.9 | 8 (5_324; el
Ry =9I BF:FVIL—U— FATPUVRARNIST
> > s 3 | AMEISHE 1:57.1 12-12-10-11/ 40.9 | 67.5 | 10 | 476 |iZHRBE GF)
ofgn| 17X~ TV~ Bl 5.0 G172 cp |EETR
RiF4—=FAVNT~ B:FUIVERFTVILY— HBEIT7—LA
4 W s 3 | GllfsitA 1:57.5 10-11-12-9 | 41.1 | 64.5 | 13 | 426 |EFE= (5H)
1 5| AAFLLY b 56.0 2172 o |BlEx
RiIZI/ELLY N B:TSATIR—)L EEre)
—~ S — 4 3 | PEBIE 1:59.4 9-9-6-10 |43.4| 53.9 | 14 | 488 |®E&FEL (55m)
1207]13| PY=>735—7 5.0 (541) ) |
R:IvRIvTA B:vI=JO07-)b SRS
N 3 | AEEE 2:00.4 12-12-10-13| 44.1| 48.2 | 9 500 | ARE ()
1315/ 9 | RILEZLTL " 56.0 ®) (- | ® gvF-L—vv7
R:O0—KAH7FO07 BRILETa—/ /=Y ITr—1L
FR—a : -6-14- HehEl )
14 6| 7F 29— 43 B 2.?61).4 5-6-14-14 | 44.5 | 42.3 | 15 z:g)z Bt
RIAYYISvya B:7F/NLU—F LiNEre]
$~ EFPSKEB : -14-15- B2Em— (BE
1slelis O—€v94)L7 [B] B3 B 2.?92).9 14-14-15-15| 44.8 | 33.0 | 12 (1_1‘133) EE#{E( )
R—5—yvF §:0E85= TIDS5T7—LA
[ BN
En'y 52.1-39.4
NOYIAL | 12.9-11.2-12.2-13.2-13.1-12.7-12.9-12.8-13.7
@ 11— —BBIEIL
10—7+— (*4,10)14-12(6,8)-(3,7)13(1,5)-(9,11) 15-2
20— — 4-10-14,12,8,6(3,7) (1,13)5(9,11)-15,2
Ia=5r= 4(10,14) (12,8) (3,7,13)1(9,11)5,2-6=15
40—F— 4,10,14,12,8(3,1,7)-5,13(2,11) 9=6=15
0 ILRE
BB 10 180M9 JA R 10-14 620 & 6-8 1,260 3EE 4-10-14 2,640
B B 10 110 4-10 290M4 o 18 10-14 1,470 3Es 10-14-4 9,240M
14 360M 4-14 1,440 oS- 10-14 1,780
4 180M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.




